Nuclear Energy discovery III

By Professor Joe Nahhas

Abstract: Newton's – Kepler's time dependent equation solution is S = r Exp í ω t. Energy  is E = mc²/2 and measured energy spectrum is ∆ E = mc².

Proof: E = mc²/2

E (definition) = mv²/2; E = mc²/2; v = c

Now: S = mr Exp [í ω t] = mr [cosine ω t + í sine ω t]; m = mass

And í² = -1; í = unit complex number

P = d S/d t = v  Exp í ω t - í ω r Exp í ω t

   = [v + í ω r] Exp í ω t 

E (visual) = m p²/2

                 = m [v + í ω r]²/2 Exp 2 í ω t

                 = m [v² - ω² r² + 2 í ω r]/2 [cosine 2 ω t + í sine 2 ω t]

                 = m [v² - ω² r² + 2 í ω r]/2 [1 – 2 sine² ω t + 2í sine ω t cosine ω t]

Along the line of sight

E (visual) = m [v² - ω² r²]/2 [1 – 2sine² ω t  ] - 2m ω r v sine ω t cosine ω t

E (ω t = 0) = m [v² - ω² r²]/2 = E (0)

E (ω t = π/2) = - m [v² - ω² r²]/2 = - E (0)

If E (0) = mc²/2 then ∆ E = E (ω t = π/2) - E (ω t) = - E(0) – E(0) = - 2 E(0)

Or E (0) = mc²/2 and ∆ E = - 2[mc²/2] = - mc²

In General ∆ E = E (visual) - E(0) 

                         = E (visual) - m [v² - ω² r²]/2                  

                         = -m [v² - ω² r²] sine² ω t - 2 m ω r v sine ω t cosine ω t     

                         = - 2 E (0) sine² ω t - 2 m ω r v sine ω t cosine ω t

∆ E = - 2E(0); ω t = 0; ∆ E = 0; ω t = +/- π/2

∆ E = [0, - 2 E(0)] = [0, - mc²]

With ω t = Arc tan (v/c) then 

∆ E = - 2 E (0) sine² arc tan (v/c) – 2m ω r v sine arc tan (v/c)√ [1- sine² arc tan (v/c)]

with v <<< c then; ∆ E = - 2 E (0) (v/c)² – 2m ω r v (v/c)√ [1- (v/c)²]

∆ E < 0

∆ E (visual) = - mc² = maximum value of visual energy spectrum

Meaning E = mc²/2 and ∆ E = - mc² visual effects 

∆ E < 0 meaning when astronomers look at the stars in any direction they see the stars receding suggesting farther away from each other leading to a bang on the head of the big banger when the whole case is astronomical incompetence elevated to fraud.
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